45V 45° ONE—WAY VEHICLE PLUMBIZER SUPPLIED HARDWARE ASSEMBLY

HARDWARE MEETS OR EXCEEDS STATE SPECIFICATIONS
(1) 11V PLUMBIZER CASTING

(1) 11R BALL CASTING

(4) 3/8" X 2 1/2" BOLT

(8) 3/8” FLAT WASHER

(4) 3/8” SPRING LOCK WASHER

(4) 3/8” NUT

(2) 25PN 1 1/2” PIPE THREAD LOCK NUT

(2) 25MB 2" ID 10 Ga. MACHINE BUSHING (FLAT WASHER)

11V_SIDE VIEW

APPLY ANTI-SEIZE LUBRICANT TO ALL THREADED SURFACES.
NOT INCLUDED
(2) 11F SPACER REQUIRED FOR 4—5 SECTION PLASTIC
SIGNALS, OR HORZONTAL MOUNTING, (SEE DWG. 5A)
(1) 15PC PEDISTRIAN/PLUMBIZER CAP FOR PEDESTRIAN
OR TRAFFIC SIGNAL MOUNTING (SEE DWG. 9.1.0.)
8 7/8"
o
>
bt}
h \ A
* PART_NO. 11V
i
—_/ ’_\ 2 7/8"
J1R BALL 11V_PLAN VIEW
16 1/4"
NOT INCLUDED MOUNTING FLANGE - SEE DWGS. 4, 51.0, "| 1.3/8" =
12, 16, 18, OR A WELDED FLANGE BY POLE
_ ™7 MANGRACTURER. 25PN 1 1/2" PT LOCK NUT
25MB 1 1/2" MACH. BUSHING
0 S |
@QINH 72 PROTRUSIONS—\ _E_% 2 1/4"
J “
5 3/4" _ )
DIA \_11R BALL , f | f
. 11V_SECTION AA 72 PROTRUSIONS—/ S 2'1/4"
(REGESSED SIDE) S |
\—INSTALL SUP/PIJED 11R BALL, FOUR SETS OF 25MB 1 1/2" MACH. BUSHING .— —
SUPPLIED 3/8" BOLTS, FLAT WASHERS AND " CIL_ T
—_— — SPRING LOCK WASHERS ON BOLT CIRCLE. 25PN 1 1/27 PT LOCK NUT
(BOLT SETS CAN BE REVERSED — NUTS OUT.) (PART NO. 11V) | |
o
45V — 459 ONE—WAY VEHICLE PLUMBIZER ASSEMBLY
NOT TO SCALE
REV.

F RE Y 45V 45° ONE-WAY VEHICLE PLUMBIZER DATE | DWG. NO.
Ma

nufacturing com.
www.FreyMfgCorp.com
Made in USA
Phone: 952-467-4402

Patent Pending

02-09-09

Angle Mount 9 .02




